How to get Port ErrDisabled State viaNETSNMP
in DES-3200 C series?

The OIDs are defined in "swL 2PortErr Table" of "DES3200-XX-L 2mgmt-MI1B.mib" .

And therelated OID for DES-3200 C Series
1.36.14.1.171.11.113.41.2.3.7 =>DES-3200-26
1.36.14.1.171.11.1135.1.2.3.7 =>DES-3200-28
1.36.14.1.171.11.113.8.1.2.3.7 => DES-3200-28P
1.36.14.1.171.11.113.9.1.2.3.7 =>DES-3200-52
1.36.14.1.171.11.113.10.1.2.3.7 => DES-3200-52P

The following example is DES-3200-26:
swL2PortErrTable (1.3.6.1.4.1.171.11.113.4.1.2.3.7)

iDbiect name sl 2PortEr Table

Obyect ID 1.36141171.11.113412.37
FModule DERZ200-20-L2kGH T-MIB
Base smta sequence Of swl ZPordEnEntor
Access Mot Accesshble

mtatus Current

BEUETCE Ll 2PortErPortindex - Integer

2awLiPotEncPortstate - Integer
FawL2PotEncPortConnitatos - Integer
42w L2PortErPotkeason - Inteser

Parent node s L2 Porthd amt

First chald sl 2PortEaEntoyr

Description & table that contains enmor sformaton for each port
|



Suppose the port ErrDisabled state as bel ow, how to get thisinformation?

DES-3 admin#show ports err_disabled
Comman w ports err_disabled

FOrt Connection Sta

Description:

1) Port Number

Ohiect name vl 2PortErPorlndex

Chject [D 126141171.111124123711

Module DERZ200-26-L 2 G T-KIB

Baze aymtax Integer

Compozad, symtax INTEGER

Aooess Fead-Cly

Status Curremnt

Walue list 1:0.65535

Parent node L 2PortErrEntor

First child Wiome

Diescription Thiz ohyect mdicates the modole's port namber (1. Max port nomber 10
the module).

For example:

snmpwalk -v2¢ -c private 10.90.90.90 1.3.6.1.4.1.171.11.113.4.1.2.3.7.1.1

-3
S

tsrenmpualk —v2c —c private 18.98_.78.98
2

4.4.474.44.413.4.4.2.3.7.1.1
i

i 6.1.
-3 1.1.18 = INTEGER: 18

EMMPu2—SHI - centerprizses 171 .11 113 _.4.1.

2) Port State

Ohiect name awL2PortErPortatate
Chject [D 126141171.1111241 232712
Module DERZ200-26-L 2 G T-KIB
Baze aymtax Integer
Compozad, symtax INTEGER
Aooess Fead-Cly
Statz Current
Walug list 1 ¢ emabled 1)
2 - dizabled (2
Parent node vl 2PortErEntor
First child Wiome
Diescription Thiz oyect mdicates if the port state 1z enabled of dizahled .
For example:

snmpwalk -v2¢ -c private 10.90.90.90 1.3.6.1.4.1.171.11.113.4.1.2.3.7.1.2

tsranmpuwalk —v2c —c private 10.960.960.968 1
2.3

-3.6.1.4.1.171.11.113.4.1.2.3.7.1.2
SNMPu2-SMI:tenterprises.171.11.113.4.1. -7.1.2.18 = INTEGER: 1




3) Connection Status

Chiect name 2L 2PortErrPortiConnstatas
ChjectID 126141171.1111241 23713
Module DERZ200-26-L2M G T-MIB

Baze svmtax Tnte ger

Compozsed, syt INTEGEE

broess Fead-Cmly

Statnz Current

Walue list 1 sotheril)

2 ¢ err-disabled (2

Parent node L 2PortErrEntor

Firzt child Wone

Diescription Thiz.ohject tndicates whether the Port Statng 2 erc-dizabled or not,
For example:

snmpwalk -v2c -c private 10.90.90.90 1.3.6.1.4.1.171.11.113.4.1.2.3.7.1.3

tsesnmpwalk —v2e —c¢ private 18.78.99.99 1.3.6.1.4.1.1'"11 11 .113.4.1.2.3.7.1.3

BHMPu2-8SMI : tenterprises . 171.11.113.4.1.2.3.7.1.3.18 = INTEGER: 2

4) Disabled Reason

Cibject name el 2PonErFortR eason
Cibject I 126141171111134123714
Module DES2200-26-LIMGHMT-MIB
Blaze smtax Integer
Cornposed. syt INTEGEE
broess Fead-Cmly
Sfatuz Curreint
Walue list 1 stp-lhd (1}
2 ¢ storm-contrliE)
2 otp-lbd i3
Parent node pwL2PorErEnter
Fivst child Mone
Diescription Thiz obect describes if the reazon for the portemor 123 TF LED or Stonm control.
For example:

snmpwalk -v2c -c private 10.90.90.90 1.3.6.1.4.1.171.11.113.4.1.2.3.7.1.4

ssrsnmpwalk —v2c —c¢ private 180.260.908.968 A4 .11.1143.4.1.2.3.7.1.4

BNMPe2-8MI - tenterprises.171.11.113.4.1 .2, INTEGER: 3



